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2ATdT0=T folGor:-

o Uligmell reieIa ruel orec! 3 TR S

Candidates should answer in their own words as much as possible.
o 18l Ut aiforart 3

All questions are compulsory.
o el Ul bl AT 52 3l

Total number of questions is 52.

® %I 1 A 30 AD JB[ADICUI U%1 8 | U U6l D AR fdbey fEu s1e 31 A&t fdmecy
I aRIGl DISERI TN Ul &b fe1e 01 3icb forerifya 3l
Question No. 01 to 30 are multiple choice questions, each question has four options. Select the

correct option. Each question carries 01 mark.

o U 3T 31 A 38 7D el e1g STRI Ul 31 {51191 A [boadl 6 sl bl 3112 Soll
sifordrt 31 Ui Usel bl ol 2 3idb foreri¥a 2
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 02 marks.

o U 3T 39 A 46 D I It Ul 81 f31=191 A febodt 6 UGl I 312 ol STt 3
URID U1 DI Aol 3 3D forerifad 3
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer
any 6 questions. Each question carries 03 marks.

o Ul JARI 47 A 52 SlEl I3 Usl 31 febodl 4 Uil I 312 Soll M1 81 Ui Ussl
I Hlol 5 3icp forerifaa 3
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4

questions. Each question carries 05marks.

1. fAafof@a & O Sl Sagarere 1 3¢gIor 87

a. HelsJ
S
b. STel
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c. gIam™
d. eg3raEs
Which of the following is an example of biological resource?
a. man
b. Water

c. insolation

d. Iron ore

2. HIeTd SiideT & JoTaT 3R faa e o) Tiet o ToIT HHATEIAT T HATST F HaT ScanT
gleTr Tnfge?
a. IARFRIATH
b. e F A= &
c. WHR & gaea

d. <IIHITd

How should resources be distributed in society to maintain the quality of human life and
world peace?

a. according to the rich
b. according to the poor
c. according to the government
d. justified
3. fARIRY R fonar SiTfat & Aol 7 3mar g2
a. TTAY Shiaar
b. gerer Sfea
c. TuTfae Sfaar
d. e sfaar

Nicobarese pigeon comes under which category of species?
a. general castes
b. rare species

c. endemic species
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d. extinct species

4., TAFATARET & A et GATAT e 87
a. HGIAC - eR1hs IRATSTAT
b. ETehT — fAIT ST S

. BeqdfALT - glerard

d. 979 — HTGST ATel TRASTAT

(]

Which of the following is not matched?
a. Mahanadi — Hirakud Project
b. Tanka — underground water tank
c. lltutmish — HauzKhas
d. Ganga — BhakraNangal Project
5. e ot P R ey 3F v ST
a. IdsH
b. efd

c. auT
d. IWrFaasir

In which season are Rabi crops sown?
a. summer

b. cold

c. Rain

d. All of the above

6. T fohd FehI T i T 3EERIT &2
a. Sitae foralg i
b. wIfFsTeh HY
c. UOTHY
. g
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Tea is an example of which type of agriculture?
a. subsistence agriculture

b. early agriculture

c. plantation agriculture

d. shifting cultivation

7. SIRWUS o I[3T 3N AT & ol AT GiclsT IIAT ST 52
a. olig 3 T&h
b. e
c. diar

d. 31Tk
Which mineral is found in Gua and Noamundi of Jharkhand?

a. lron ore
b. Coal
c. Copper
d. mica
8. TAFIfaT@d # @ forgent URage UTSUcS GaRT &1dT 872
a. 9rer
b. Fardd
B FoA [ B Yo 1 Y

d. 39ed G
Which of the following is transported by pipeline?

o

a. Water

b. crude oil

c. petrol products
d. All of the above

9. THW S T 22 FHAWG AW T TGN T fohd T & T 17 82
a. &dar
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b. odr
c. 7dr
d. 687

In which schedule of the Constitution have the 22 major languages of our country been
kept?
a. 8th
b. 9th
c. 7th

d. 6"

10. TATA 2AMHT IIEUT H TohcdalT Ig Afgemt & o IRfaa &2
a. T -fags
b. Th-dtUTS
c. ar-fags
d. cieT-=iers

How many seatsin the local governance system are reserved for women?
a. One -third
b. one -fourth
c. two- third
d. three- fourth
11. AR H AR AR 3MegleleT el §31T?
a. 1968 ¥ 1974
b. 1954 & 1968

c. 1974311980

d. 1980 & 1988
When did the Civil Rights Movement take place in America?

a. 1968 to 1974
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b. 1954 to 1968
c. 1974 to0 1980

d. 1980 to 1988

12. R & =1 F fenargemsit 7 afgensit r ufafafcg fraar fradr &2
a. 5®Hraar
b. 4 g
c. 14 HrESY
d. 5HrEEASH

What is the percentage of representation of women in the legislative assemblies of the
states of India?

a. 5 percent
b. 4 percent
c. 14 percent
d. less than 5 percent
13. 3T | FleT W S H GfagellT STaTAT §?
a. AR
b. AR

c. I
d. JTHAT

Which of these countries has a two-party system?
a. India

b. America

c. France

d. Germany

14. 9Tl H Tolded o forg a¥ gaATCT TR I1am?

a. 2006
b. 2008
c. 2004
d. 2005
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In which year the monarchy was abolished in Nepal?
a. 2006
b. 2008
c. 2004
d. 2005

15. ST 3 9Tet o foiehioT & T 3Tealelst i 3FIdTS Tohe HaTaet & fohar aT?

FEDECOR

NAPAM

BAMCEF

. CONGRESS

Which organization led the movement against water privatization in Bolivia?

oo oo

a. FEDECOR
b. NAPAM
c. BAMCEF

d. CONGRESS
16. 3ol T #Hcg & e §led T Teh RUT oAl H @ dhiT-aAT g ?

a. ldefieieh [AdUT YOI &l Hel fshaleadel

b. 3dH IRAg TaEYl

c. TRA&T va Tareed oI Hifores graunait &1 aied 3uerstrar
d. 3= ufdeafed 3ma

Which of the following is one of the reasons for low infant mortality rate in Kerala?
a. Proper implementation of public distribution system

b. good transportation system

c. Adequate availability of basic facilities like education and health

d. high per capita income

17. TATaT@d 7 9 f5a garfed &7 & Aafoa ser s aedrg ?

a. PN HI
b.  SEITSEI =i T TATHT FHHARY
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C. ofg 3T & A%

d. SheTSIdTer

Which of the following can be called employed in the organized sector?
a. farm worker

b. permanent employee of multinational company

c. small scale industry workers

d. Ragpickers

18. TSHIR & I 3T 3cTeed el o U fo¥oed H & it F 3UT fhT ST & 2
(1) TS shr giaem & gefer (2) faeaTery Td 3ol Shi TATI=T (3) TWed THERIUT Fh1s
T TATIAT
a. shddl 1
b. 1daUT2
c. 2duT3

d 1,2d4ar3

Which of the following measures are taken to generate more employment opportunities?
(1) Increase in irrigation facilities (2) Establishment of schools and hospitals (3) Establishment
of food processing units

a.only 1
b.land?2
c.2and 3
d.1,2and 3
19. [T 7 & it @ Told! R TR 1 3N & HIT Ale ST AT & ?
a. HRd & fad#HAY 3¢ ST g
b. HRAT RTdee garT IR gt &

c. cUFTMdFAAAcTI A&
d. faeade HETAle IR AT 8

Which of the following agencies issues currency notes on behalf of the Government of
India?
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a. The Finance Minister of India issues these
b. Is issued by Reserve Bank of India
c. All banks of the country issue currency notes

d. World Bank issues currency notes

20. T 3R 2T1e &Y ©Ie g § fSegiat 37e19T-37619T Tl & 20,000 T9AT dhol forT &) TH
o1 1.5% sATST STAATE T G @ Ueh AT F ol TolAT § STafeh ATH o UG ol sieh F
gTAay 8% SATST X ToldT § | TR 3TUR W ol f@d 7 & Shled AT HYUT AT 872

a. THA T fordr &1 foh 38 fordl YR Al IRTSHT SRIAATET sTgl el us |
b. QITH FT gleld SATGT BRI g FAITh 38 SATGT SATST SoAT US (ET & |

c. T I grord S1eT TS § Fifeh af ST saraT S Wi e |
d. A dgR g FAT foh 38 SIET sa7T AT T8

Ram and Shyam are two small farmers who have taken a loan of Rs 20,000 from
different sources. Ram has taken a loan from a businessman at the rate of 1.5% per annum
interest while Shyam has taken the loan from the bank at 8% per annum interest. On the above
basis which of the following statements is true?

a. Ram did it right because he didn't have to do any paperwork.
b. Shyam's condition is worse because he has to pay more interest.
c. Ram's condition is worse because he is paying more interest.

d. Shyam is better off because he is getting more interest.

21. IR TN o FAT T AN (RTI) ATHR hleleT shel T fehaT I1AT?
a. 3TFCER 2005
b. 3T9T&EA 2006
C. STeTadl 2005
d. oIdF«¥ 2007

When was a law called Right to Information (RTI) implemented by the Government of
India?

a. October 2005
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b. August 2006
c. January 2005

d. November 2007

22. TR GaRT AT 372aT ITAHT T §CTeT T TTohaT FIT FHgalldl &7

a. AR
b. fosieRor
C. 3RO
d. regare

What is the process of removing barriers or restrictions by the government called?

a. globalization
b. privatization
c. liberalization

d. nationalism

23.  37&C (Ernst Renan) YoTeT Toh& &2T & graifaies 272
a. STHaAT
b. SHIEET
c. 3TARHT
d. R

Ernst Renan was a philosopher from which country?
a. Germany
b. French language
c. American
d. Indian

24.  AIHTHT hITcT el g‘é ofr?

a.1789
b. 1857
c. 1757
d. 1947

When did the French Revolution take place?
a.1789
b. 1857
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c. 1757
d. 1947

25.  "IISTA "HIAIT HISHT  HTAUTIS Hief A?
a. fgeex
b. AT

c.?{lﬁﬁ?ﬂ?&ﬁ
d. FTTHTFT

Who was the founder of "Young Italy" underground organization?
a. Hitler
b. Napoleon
c. Giuseppe Metsny
d. Karl Marx

26.  FQICATIMEY TET0T 3TRTRT & TR el dilc?
a. STeTadr 1915
b. 39T 1921
c. AT 1930

d. STeTadr 1950

When did Mahatma Gandhi return to India from South Africa?
a. January 1915
b. August 1921
c. March 1930
d. January 1950

27. o1 ok 3T $f1FRIT JHFeIgeh] U fohdieh HE E31T AT

a. STATgY T AAg®
b. TER U
c. S Toteg IIC

d. FGTcAT amed
The Poona Pact was signed between Dr. BhimraoAmbedkar and whom?
a. Jawaharlal Nehru
b. Sardar Patel
c. Dr.Rajendra Prasad
d. Mahatma Gandhi

28 18903?3%@:%%?@—?%@@%%:&3@?3@@&@7
a. 3TAR&T
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b.37shTeRT
c.foestther

d. SI9TeT

In which country did the disease called Rinderpest spread very fast in the 1890s?
a. America
b. Africa
c. Britain spread
d. Japan

29. fA=Tifoha & & SieT ¢or AaRTSE & qrer &7 A7
a. Jeht
b. 3Teear
c. fsieeT
d. STH=AT

Which of the following countries was in the hands of the Allies?
a. Turkey
b. Austria
c. Britain
d. Germany

30. Teufeer el #eher foraes gany 9=1g 915 A 2
a. 7ggsT
b. IR
c. SIFggRATsaT
d. et

Who created the Spinning Genie machine?
a. Newton
b. Kepler
c. James Hargrebbs
d. Raphael
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iy s weet - el 06 wett & Fww &
Very short answer questions: Answer any SIX questions

31. 3GRATG HIFATHAE ?
What is the meaning of liberalism?

32. FaRfAfear #Foigy i ¥ 2
Who were the Girmityalabour?

33. SE3eg N FEr RIS & gl S 2 i forg]
Write any two disadvantages of multipurpose river projects.

34. @it AT §?

What is a mineral?
35. HFIGTTAhdT T 872
What is communalism?
36. ARG 3TeqTelel & FIT HHSTT &7
What do you understand by feminist movement?
37. TATERAT &X Sl IIRATT HY]
Define literacy rate.
38. a2 SATIR TIS+T (WTO) & fohegr &l St ol ford|
Write any two functions of the World Trade Organization (WTO).

ETes : fhedl & weal & 36 AfAFaH 150 i A E |

Short answer questions: Answer any SIX questions in maximum 150 words.

39. SATIATATAT 19T §eAThIUS TR Higed Ale ford |
Write a brief note on Jallianwala Bagh massacre.
40. STAgSH FHSIT @1 &1 378 § ?What is the meaning of Bretton Woods Agreement?
41, {RT A dlig 313Ew o foahegl Aol [aaoT 819 & A1 ford.
Name any three distribution area of iron ore in India.
42. Y MR 3T 3R GiAST TR 3T H F47 3R 8, 3ceR0T Afge ford]

What is the difference between agriculture-based industry and mineral-based industry,
write with examples.

43, elterdieeh sgaeT T faregl o gatfarat ==t 1.
Discuss any two challenges of the democratic system.
44, ngo?lq SIATUT I T H Tord|
Write briefly on multi-party system.
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45, FoT I fohogr et AT FT 3ol HY|
Mention any three conditions of the loan.

46. STHTFAT TIETUT IR ITHIFATHT T TR ThR FAGE, T o2 foheal clel aXiehl T
ool |

How does Consumer Protection Council help consumers? Mention any three methods.

&rer 3T weeT: oY 04 WY & 3% HTOFaH 250 erea # &

Long Answer Questions: Answer any four questions in maximum 250 words.
A7. HEUT TEPIA o HIR & Tregale; o [denrd & 41 Hee 6 2

How did print culture help in the development of nationalism in India?
48. $EC ST el o HRCAT eTehsl & AT AR It hg iy g i smyfed glared
el o Tl Fm fopam 2

What did the East India Company do to ensure regular supply of cotton and silk cloth from Indian weavers?

49. ST gell & GUR & 3UTdT T T Y.
Discuss the reform measures of political parties.
37[dT (or)
T I ATSIERT & faffesT 9T &1 quT &y
Describe the different forms of power sharing.
50. HTdoTieTeh &7 fond T & 31T A & $8 g &a &7
How does the public sector contribute to the economic development of a state?
37dT (or)
HOT & 3TaTer Ta 3=aariRes Aldr & 37X & TS &< (Explain the difference
between formal and informal sources of credit.)
51. TR H TS STTeY dTell FaT & Jatferur &Y 3T 3eTehr autet .

Classify and describe the soils found in India.

52. AT # Y& R g & H1H= T 10 A1 ht 3R T ) ford- olgT &

IR FRACHIECIE G|

Write the name given in the appropriate place in front of the point shown in the map -
Iron Steel Industry Jamshedpur, Iron Ore Mine Bailadila, BhakraNangal Dam, Cotton
Textile Industry Surat, Port Visakhapatnam.
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RGeS Ueell o1 JA, Ued A3 1 A 30

1 A 11 B 21 A
2 D 12 D 22 C
3 C 13 B 23 B
4 D 14 B 24 A
5 B 15 A 25 C
6 C 16 C 26 A
7 A 17 B 27 D
8 D 18 D 28 B
9 A 19 B 29 C
10 A 20 C 30 C
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